

1006

# DECLARATION OF DONATION COUNCIL APPROVAL

For County Council's approval consistent with Policy 1006

(Cash donations above \$5,000; property donations above \$1,000; Testamentary donations.)

in accordance verbat I possess of	, irrevocably give, and whe Lake County to become permanent proposition its established policies. I assign on these properties to Salt Lake County her provisions or restrictions."	and transfer all rights, including	pe administered any copyrights
Description of do	onation:		
Donated items fr	om 2023 Angel Tree for use in the Youth Ser	vices programs. An itemized list is att	tached.
Value (estimated	by the donor): 207437.57		
	of title and delivery: 1/1/2024		
Other provisions	or restrictions, if any:		
For use at Youth	Services Programs		
Donor Name:	Emily Read	Emily Read	
	Please Print	Donor Signatur	re
Donor Address:	Address	State	Zip
E	lected Official/Mayor or Designee	Date	·
•	hereby accepts the above donation under the ut makes no judgment as to the value of the I	•	ration of
SALT LAKE CO	UNTY COUNCIL:		
		Chair	Date
ATTEST:	County Clerk or Deputy County Cl	, erk	

ShelterKids

Angel Tree 2023 TOTAL DONATIONS

Category	Total
Snacks	\$ 13,373.08
Books	\$ 5,931.00
Toiletries	\$ 19,207.55
Crafts	\$ 42,167.32
Electronics	\$ 1,408.05
Toys	\$ 2,706.38
Misc	\$ 2,414.73
Holiday	\$ 806.46
Appearal	\$ 119,423.00
	\$ 207,437.57

### FOOD

ITEM	QUANTITY	COST	TOTAL
dail 8 pack soap	1	6.5	\$6.50
Great Value chewy granola 24 count	3	3.84	\$11.52
1-4 Lb bagged candy	8	20	\$160.00
1-4 lb bags of candy	6	20	\$120.00
10 kool aid punch	2	3	\$6.00
10 pack candy bars	10	7	\$70.00
10 pack teddy bears	1	14	\$14.00
10 pouch capri sun	10	3	\$30.00
12 pack aprons	1	29.98	\$29.98
12 pack coke	8	9	\$72.00
12 pack coke zero	7	9	\$63.00
12 pack Diet Dr. Pepper	4	9	\$36.00
12 pack Dr. Pepper	6	9	\$54.00
12 pack Lemonade	3	9	\$27.00
18 pack gatorade	1	15	\$15.00
2 Can openers	2	20	\$40.00
20 pack gatorade	2	20	\$40.00
20 Pack Nabisco Cookie	1	9	\$9.00
20 pack vitamin water	1	22	\$22.00
24 pack sunny d	1	24	\$24.00
3 Pack Body Butter	2	22	\$44.00
3 pack popcorn	1	4	\$4.00
30 pack cereal	2	10	\$20.00
30 pouch Capri Sun	2	9	\$18.00
32 pack juicy juice	1	12	\$12.00
35 pack cokes	1	41	\$41.00
36 Misc Snack Bags	36	9	\$324.00
3good to grow juice	1	7	\$7.00
40 kook aid punch	1	8	\$8.00
40 pouch capri sun	2	25	\$50.00
4pack jumex mango nectar	1	4	\$4.00
6 fruit barrel juice	1	4	\$4.00
6 pack hawaiian punch	1	3	\$3.00
6 pack OJ	1	5	\$5.00
8 pack juice boxes	5	3	\$15.00
8 pack orange soda	1	8	\$8.00
90pack airheads	1	30	\$30.00
Animal crackers 10 pack	1	10	\$10.00
Annies Bunny Snacks 18 pk	2	17	\$34.00
Applesnax 4 cup	1	1.5	\$1.50
assured cotton swabs	1	8.81	\$8.81
Autumns Gold granola bars singles	5	6.5	\$32.50

bath and body works handsoap	1	5	\$5.00
Bear Grahams 10 pack	4	9	\$36.00
Black Forest fruit snacks 40 count	2	9.48	\$18.96
Blue dinosaur granola singles	12	3.92	\$47.04
Bluey 10 count	1	5.74	\$5.74
Body Butter Tins	5	15	\$75.00
Body care kit large	24	25	\$600.00
breakfast biscuts 10 pack	3	20	\$60.00
Brownie King	1	5	\$5.00
Brunswick Chicken Salad	12	2	\$24.00
BRunswick Tuna Salad	11	2	\$22.00
butter cream frosting 8 cans in 1 box	1	13	\$13.00
Cans of tuna	23	2	\$46.00
Cans of veggies	34	3	\$102.00
caress bar soap	18	4.5	\$81.00
cereal cups	15	2	\$30.00
chapstick 2 pack	22	3	\$66.00
chapstick 3 pack	38	3	\$114.00
chapstick 4 pack	26	6	\$156.00
chapstick 8pack	29	21	\$609.00
Cheddar cheese Crackers	4	5	\$20.00
Cheese dip Snack Packs 5 pack	4	7	\$28.00
Cheetohs Snack Bags	23	3	\$69.00
Chocolate Rudolfs	23	1.99	\$45.77
chocolate wafer rolls	6	6	\$36.00
Chomps	3	2	\$6.00
Clean Skin Club towels	1	1 <i>7</i> .95	\$17.95
clear comfort multi-purpose solution	1	13	\$13.00
Cookie Snack Packs	37	3	\$111.00
Cotton Swabs	1	13	\$13.00
crayola bandages	3	13	\$39.00
Crayola fruit snacks 8 count	1	7.5	\$7.50
Cup of Noodles 12 ct	9	6	\$54.00
Cup of Noodles 24 ct	8	13	\$104.00
Cup of Noodles 6 ct	25	3	\$75.00
Cup of Noodles Singles	75	0.5	\$37.50
dail soap bars	14	2	\$28.00
Delmonte 12 cups	3	8	\$24.00
DElmonte Bubblfruit 12 cup	1	8	\$8.00
DHEA	1	9	\$9.00
Disney Princes 10 count	1	12.99	\$12.99
Doritos Spicy Nachos	1	5	\$5.00
dove beauty bar	38	2	\$76.00
dove cool moisture 4 pack	1	6.5	\$6.50

dove cool moisture 8pack	1	11	\$11.00
dove men plus care soap	2	5.65	\$11.30
dove sensitive skin 4pack	1	6.5	\$6.50
dove sensitive skin 6 pack	1	14	\$14.00
Dove Shower Collection	1	22	\$22.00
Dried peas	1	2	\$2.00
Duches Donuts 12 count	1	8	\$8.00
duke cannon heavy duty hand soap	1	9	\$9.00
equate soap holder dish	29	1	\$29.00
Favorite Day Tortilla Chips	1	4	\$4.00
Fidget Multipack	1	19.99	\$19.99
Flaming Hot Cheetos	1	3	\$3.00
Flaming Hot Cheetos 10 pack	2	7	\$14.00
FLaming Hot Cheetos 50 pack	1	22	\$22.00
flexible fabric bandages	1	3.58	\$3.58
Food Club granola - 5 count	3	2.5	\$7.50
Food Club Tuna Packets	2	1.5	\$3.00
FRito Lay 42 pack	2	22	\$44.00
Frito Lay 54 pack	2	36	\$72.00
fruit & nut candy	1	15	\$15.00
Fruit rollups 10 count	2	2.99	\$5.98
Fruit rollups 30 count	1	8.26	\$8.26
Fruit Rollups 8 count	1	2.75	\$2.75
Fruit Snacks	76	2	\$152.00
Fruity snacks 100	3	20.52	\$61.56
Fundables 40 count	1	8.98	\$8.98
generic hand soap	1	6.5	\$6.50
Gogo Squeeze 10 ct	1	8	\$8.00
Gogo Squeeze 20 ct	1	12	\$12.00
Goldfish 45 pack	3	28	\$84.00
Goldfish Boxes	9	3	\$27.00
Good & gather 12 count	2	8.38	\$16.76
Graham Crackers 4 pack	2	20	\$40.00
Granola Bars	13	2	\$26.00
Granola Bars	104	2	\$208.00
Great Value chewy granola - 10 count	2	1.78	\$3.56
Great Value chewy granola - 48 count	2	6.47	\$12.94
Great value dipped granola -6 count	1	1.99	\$1.99
great value fruit bars	2	6	\$12.00
Great Value fruit smiles 10 count	3	10.85	\$32.55
Great Value granola - 6 count	6	2.18	\$13.08
Great Value singles	3	0.36	\$1.08
Grogu Plush Toy	1	19.99	\$19.99
Gushers 10 count	1	11	\$11.00

harry's bar soap	3	3	\$9.00
Hawaii Provisions Mango Pancake Mix	1	6	\$6.00
Heat Shrink Sheets	1	15.99	\$15.99
hello kitty rice crackers	1	8.97	\$8.97
hello kitty rice rolls	3	26	\$78.00
Hi-C 8 pack	4	2.18	\$8.72
Hormel Compleats	3	2.3	\$6.90
Hostess Variety Pack 32 count	1	1 <i>7</i>	\$1 <i>7</i> .00
I Love you like a lemon book	1	9.98	\$9.98
irish springs soap	20	3	\$60.00
Italian Dressing Seasoning Packet	1	1	\$1.00
Jumex Guava Nectar	1	3	\$3.00
Keebler Crackers 8 pack	2	12	\$24.00
Kind granola - 10 count	1	7.48	\$7.48
Kind granola - 12 count	1	4.98	\$4.98
King size bags/ bars candy	80	5	\$400.00
Kirkland Chewy Choc chip 64 count	7	22.28	\$155.96
kirkland disinfection solution	1	21	\$21.00
Kirkland Peanut Butter Pretzel Bites	8	27.4	\$219.20
Kirkland Protein Bar 42 count	1	28.2	\$28.20
Mountain Trail Mix	1	18	\$18.00
Kraft Mac 12 pack box	2	13	\$26.00
Kraft Mac 4 pack	6	5	\$30.00
kroger acetaminophen	1	3.51	\$3.51
Kroger chewy granola 8 count	2	1.78	\$3.56
kroger hand soap	4	6.5	\$26.00
Kroger Peanuts	2	3	\$6.00
Kroger sweet & salty 6 count	1	2.69	\$2.69
Lance Toasters	12	4	\$48.00
Large Body Butter Tin	1	20	\$20.00
large hand santizers	7	7.5	\$52.50
Large Lotion Bottle	12	10	\$120.00
Large Tube Lotion	21	10	\$210.00
Lip Smacker	1	8.66	\$8.66
Lipton Soup Box	2	2	\$4.00
Loaker Wafers	1	18	\$18.00
Loose Candy Bars	7	2	\$14.00
Loose candy bars	3	5	\$15.00
Marinela Snack Cake	3	2	\$6.00
Marvel Superhero 10 count	1	10	\$10.00
Medium Lotion Bottle	1 <i>7</i>	8	\$136.00
Members MArk Chips 42 pack	1	29	\$29.00
mini panettone	2	2	\$4.00
Mini Takis 25 pack	8	18	\$144.00

misc snack size bagged candy	13	9	\$117.00
misc. soap	13	2	\$26.00
Moon Pies 6 count	1	8	\$8.00
Mott's fruit snacks 22 count	3	5.48	\$16.44
Mott's fruit snacks 40 count	11	7.98	\$87.78
Mott's fruit snacks 90 count	13	21.99	\$285.87
MP3 player	1	19.99	\$19.99
nabisco 40 pack	2	20	\$40.00
nabisco variety 12 pack	1	8	\$8.00
Nature's Valley Fruit & Nut bar - 6 count	1	2.99	\$2.99
Nature's Valley granola - crunchy 12 count	7	3.59	\$25.13
Nature's Valley granola - crunchy 49 count	2	31.55	\$63.10
Nature's Valley oatmeal bars - crunchy 6 count	3	3.42	\$10.26
Nature's Valley oatmeal squares 12 count	1	6.78	\$6.78
Nature's Valley Protein bars 30 count	2	26.56	\$53.12
Nature's Valley Sweet & Salty bars 36 count	3	16.97	\$50.91
Nature's Valley Sweet & Salty bars 48 count	2	24.38	\$48.76
Nature's Valley Sweet & salty granola 12 count	1	7.29	\$7.29
Nature's Valley Sweet & salty granola 18 count	1	11.87	\$11.87
Nature's Valley Sweet & Salty granola 6 count	3	2.99	\$8.97
Nature's Valley Wafer bar 20 count	1	11.68	\$11.68
Natures Valley granola - crunchy 24 count	1	7.29	\$7.29
Natures Valley sweet & salty granola 15 count	1	7.48	\$7.48
Nutrigrain 16 bar box	1	6	\$6.00
Nutrigrain 36 bar box	2	16	\$32.00
Nutrigrain 64 bar box	1	34	\$34.00
oatmeal 6 pack	2	7	\$14.00
olay bar soap	3	8	\$24.00
Oreo 12 pack	2	25	\$50.00
Oreos	2	12	\$24.00
organic lip balm 8 packs	10	24	\$240.00
palmolive 2 pack	2	6	\$12.00
Panda Candy 32 bags	1	10	\$10.00
paw patrol band-aids	2	3.74	\$7.48
Peanut butter	3	4	\$12.00
pears bar soap	4	5	\$20.00
Pixar fruit snack 10 count	1	7.93	\$7.93
pocky single pack	7	1.87	\$13.09
Pokemon 22 count	1	5.48	\$5.48
Pop Corners 28 pack	1	20	\$20.00
Pop Secret Popcorn	1	3	\$3.00
Pop tarts 3 pack	1	6	\$6.00
pop tarts 48 count	1	23	\$23.00
Popcornopolis Bag	2	13	\$26.00
		•	

Popcornopolis Gift Pack	1	13	\$13.00
Potatoes	1	3	\$3.00
Prime Hydration STicks 20 ct	2	11	\$22.00
Pringles 16 ct	1	13	\$13.00
Pringles 27 ct	1	22	\$22.00
Pringles 36 ct	1	30	\$30.00
Pure Organic fruit bar 28 count	2	15.99	\$31.98
Pure Organic singles	4	1.29	\$5.16
Quaker chewy variety 48 count	1	14.2	\$14.20
Quaker chewy variety pack 18 count	2	12.28	\$24.56
Quaker chewy variety pack 30 count	4	9.49	\$37.96
Quaker chewy variety pack 36 count	2	22.27	\$44.54
Quaker chewy variety pack 60 count	3	39.66	\$118.98
Quaker chewy variety pack 8 count	5	8.89	\$44.45
Quaker Fruity Fun granola - 6 count	7	2.69	\$18.83
Ramen Bowl Chicken	4	1.3	\$5.20
Ramen Bowl Spicy Chicken	5	1.4	\$7.00
Rap Snacks Ramen	1	2	\$2.00
Ricaroni	1	2	\$2.00
Rice Krispies 60 bar box	2	16	\$32.00
Rice Krispy 40 bar box	1	20	\$20.00
Rice Krispy Box Homestyle	1	12	\$12.00
Ritz bits 30 pack	1	15	\$15.00
Ritz Cracjers	1	12	\$12.00
Roast beef can	1	29	\$29.00
Sand and Fog Body Lotion Set	1	55	\$55.00
Shea Butter Bar	6	6	\$36.00
sheer carepak bandaids	1	3.98	\$3.98
shin noodles ramen 18 pack	1	32	\$32.00
single chapstick	220	2	\$440.00
Single Taki Boxes 18 pack	11	11	\$121.00
Single Takis Boxes 46 pack	4	28	\$112.00
Small body care kit	16	15	\$240.00
Small Bottled Lotion	9	6	\$54.00
small hand sanditizers	54	1.99	\$107.46
Small Tube lotion	35	7	\$245.00
Smore pack	1	20	\$20.00
snack duos	2	6	\$12.00
Snack Pack 4 count	3	1.3	\$3.90
Snack Pack Pudding 12 pack	3	3.5	\$10.50
soap holder box 2 pack	1	2	\$2.00
Solely fruit snack singles	2	1.69	\$3.38
Soy Nuts	16	3	\$48.00
Spiderman fruit snacks 10 count	1	2.98	\$2.98

Split Peas	1	2	\$2.00
SpongeBob fruit snacks 10 count	1	2.99	\$2.99
sprite/fanta/coke minis 30 cans	1	30	\$30.00
Starkist Tuna Packets	4	1.5	\$6.00
strawberry cookies	1	10	\$10.00
Strawberry jam	2	3	\$6.00
Sunbelt Granola 10 count	4	2.99	\$11.96
Sunbelt Granola singles	9	0.29	\$2.61
Sunkist 6 count	6	7.75	\$46.50
Swiss Miss Peppermint 22 pack	1	10	\$10.00
Takis	30	5	\$150.00
Takis Crisps	5	3	\$15.00
Tapatio Cup	1	3	\$3.00
toaster pastries	4	6	\$24.00
Top Ramen 12 ct	12	11	\$132.00
Top Ramen 24 ct	8	15	\$120.00
Trail Mix	33	3	\$99.00
Value Packs fruit snacks 12 count	11	5	\$55.00
Variety Bagged Chips	18	2	\$36.00
Veggie straws 42 ct	1	15	\$15.00
VElveeta 12 pack box	2	18	\$36.00
Velveeta Cup	5	6	\$30.00
Veratify Snack Box	1	20	\$20.00
Victor Raisins	5	3	\$15.00
Watercolor Postcards	1	6.07	\$6.07
Welch's fruit pouch	2	8.06	\$16.12
Welch's fruit snacks 10 count	11	2.48	\$27.28
Welch's fruit snacks 40 count	11	10.49	\$115.39
Welch's fruit snacks 85 count	1	18.9	\$18.90
Welch's fruit snacks 90 count	4	27.19	\$108.76
Welch's Juicefuls 6 count	5	3.39	\$16.95
white barn hand soap	1	7.5	\$7.50
Winco Mac and Cheese	5	1	\$5.00
Wish Book	1	18.85	\$18.85
Women's Rain Coat	1	25.99	\$25.99
XS Sports Protein bars 12 count	2	38	\$76.00
Yakisoba Noodle Bowl	3	4	\$12.00
yardley harvest apple soap	2	2	\$4.00
ZBar - 12 count	2	7.78	\$15.56
ZBar singles	9	1.2	\$10.80
zest soap 2 pack	8	3.24	\$25.92
18 pack chocolate sandwich cooke	2	1	\$2.00
9 pack cheddar cheese cracker	3	1	\$3.00
5 pack candy	9	2	\$18.00

FI	-	00.00	<b>*</b> 00.00
Flaming Hot Mix 18 Count	1	20.98	\$20.98
Fritolay 18 count	1	11.99	\$11.99
Hello Kitty Chicken Noodle Soup 6 count	2	21.95	\$43.90
Kool-Aid Bursts 6 count	2	1.48	\$2.96
Sour Patch Kids box 3.1 oz	2	1.24	\$2.48
Snickers Bar	1	1.32	\$1.32
XL KitKat	1	2.55	\$2.55
Goldfish 6.6oz	4	2.64	\$10.56
Takis 9.9 oz	1	3.78	\$3.78
Omega-3 Trail Mix	1	7.98	\$7.98
Cheetos	1	1.29	\$1.29
Lay's	4	1.29	\$5.16
KitKat 32oz Bag	2	13.98	\$27.96
Snack Pack Pudding 36 pack	1	16.2	\$16.20
Mike and Ike	1	1.24	\$1.24
Hershey's Cookies and Creme	4	0.98	\$3.92
Sweet Tarts	1	1.24	\$1.24
Dum Dums	2	5.97	\$11.94
Fruit By The Foot Mini Feet	2	6.48	\$12.96
Crayola Fruit Snacks	2	3.99	\$7.98
Great Value Party Mix - 28 singles	1	9.94	\$9.94
12 packs Sweet & Salty	1	9.98	\$9.98
chex mix	5	3.96	\$19.80
pretzels 6 pack	1	1.25	\$1.25
sunbelt choclolate chip granols 15 bars	1	3.82	\$3.82
Mini Chocolate Chip 10pk	2	1	\$2.00
Popcorners 30 bag	1	14	\$14.00
Kirkland Chicken Breast Cans	1	14.99	\$14.99
butterfinger minis	1	1	\$1.00
twix minis	1	1	\$1.00
baby ruth minis	1	1	\$1.00
Kraft Mac & Cheese Single Box	12	1.25	\$15.00
sour patch kids	2	2	\$4.00
4 Can Whole Kernel Corn	1	5.28	\$5.28
Soup Pouch	1	0.5	\$0.50
Great Value Gelatin	2	1	\$2.00
Pasta Sauce	1	2.82	\$2.82
Big Can Baked Beans	1	4.68	\$4.68
Can of Fruit	1	2.98	\$2.98
Can of Chili	1	1	\$1.00
Chicken Noodle Soup Can	6	0.92	\$5.52
Hot cocoa	2	15	\$30.00
Kellogg's Mini Cereal Box 8 Count	3	4.98	\$14.94
Maruchan Beef Flavored Ramen Cups 12 count	2	7	\$14.00
'			•

Swiss Miss Hot Cocoa Mix	2	2.48	\$4.96
Welch's fruit snacks 22 count	2	5.48	\$10.96
Keebler Fudge Strips Mini 12 pk	1	9.9	\$9.90
Quaker Instant Oatmeal	7	1.37	\$9.59
Canned Soup	1	1	\$1.00
Can Enchilada Sauce	2	3	\$6.00
Egg Noodles Bag	1	2	\$2.00
Rice A Roni	1	1.28	\$1.28
Coffee Can	1	5	\$5.00
BioTrust Electrolytes box	5	29	\$145.00
BioTrust Electrolytes singles	2	17.4	\$34.80
Royal Dansk Danish Cookie Tin	2	10	\$20.00
Hot Wheels	1	25	\$25.00
Pokemon Mega Blocks	1	20.99	\$20.99
Ghiradelli Chocholate Squares single	10	0.79	\$7.90
			\$13,373.08

## **BOOKS**

ITEM	QUANTITY	COST	TOTAL
Books	\$3.50	12	\$42.00
Books	\$4.99	42	\$209.58
Books	\$5.99	85	\$509.15
Books	\$6.99	26	\$181.74
Books	\$7.99	58	\$463.42
Books	\$8.99	37	\$332.63
Books	\$9.99	37	\$369.63
Books	\$10.99	2	\$21.98
Books	\$11.99	6	\$71.94
Books	\$12.99	47	\$610.53
Books	\$13.99	5	\$69.95
Books	\$14.99	23	\$344.77
Books	\$15.99	2	\$31.98
Books	\$16.99	15	\$254.85
Books	\$17.99	49	\$881.51
Books	\$18.99	46	\$873.54
Books	\$19.99	14	\$279.86
Books	\$22.00	4	\$88.00
Set of 4 Hunger Game Bks	\$39.00	1	\$39.00
Set of 4 DC Comic Books	\$39.99	1	\$39.99
Complete Guide to Space	\$40.95	1	\$40.95
Set of 4 Books	\$44.00	1	\$44.00
Set of 7 Harry Potter Books	\$100	1	\$100
early reader books	15	2	30
Wish Book	7.99	12	95.88
			\$5,931.00

#### HYGEINE

ITEM	QUANTITY	COST	TOTAL
"men's" deoderant	111	6	\$666.00
"Men's" Shaving Supplies	17	8	\$136.00
"women's" deoderant	98	6	\$588.00
"Women's" Shaving	7	8	\$56.00
baby wipes	2	8	\$16.00
Backpack	30	25	\$750.00
Bathtowels	50	9	\$450.00
Beauty Runway pan	1	5	\$5.00
Blush	4	3	\$12.00
Blush	1	7	\$7.00
Body Spray	13	9	\$117.00
Body Wash	89	7	\$623.00
Combs	20	4	\$80.00
concealer	2	7	\$14.00
Conditioner	76	4	\$304.00
Covergirl 4 color	4	7.5	\$30.00
Curly Hair Products	12	10	\$120.00
Duffle Bags	54	14	\$756.00
Duffle bags XL	40	110	\$4,400.00
Elf 10 color	1	10	\$10.00
Elf 4 color	4	4	\$16.00
Elf 5 color	6	5	\$30.00
Elf eyeliner pens	2	3	\$6.00
Elf stick	4	5	\$20.00
essence Mascara	1	5	\$5.00
Estee Lauder 8 pan	1	20	\$20.00
Eyeliner pencils	6	4	\$24.00
Face Towels	103	3	\$309.00
Face Wash Towels	44	6	\$264.00
Feminine Pads	23	8	\$184.00
Foot Warmer packs	3	20	\$60.00
Hair Accessorries	28	8	\$224.00
Hair Spray	13	7	\$91.00
Hairbrushes	21	8	\$168.00
Hand Warmer Packs	5	25	\$125.00
Jade roller	1	10	\$10.00
Jewelry	7	12	\$84.00
LA Colors 12 palette	9	12	\$108.00
LA Colors 3 palette	1	6.25	\$6.25
LA Colors 6 palette	2	8	\$16.00
LA Colors blush	4	6	\$24.00
LA Colors stick	2	6	\$12.00
LA Colors too precious 12 color	4	10	\$40.00
Large Makeup Kit	11	15	\$165.00
Lip Balm	27	2	\$54.00
			, 550

lip balm 4 pack	1	4.98	\$4.98
Lip gloss 2 pack	3	5.99	\$17.97
Lip gloss tubes	24	4	\$96.00
Lip gloss wands	18	3.18	\$57.24
Lipstick	5	10.17	\$50.85
Loofa sponges	25	5	\$125.00
Loose mineral powder	4	30	\$120.00
Makeup			\$0.00
Makeup/Toiletry bags	5	4	\$20.00
Malibuglitz pans	2	8	\$16.00
Mascara	30	8	\$240.00
Max studio 9 pan	3	20	\$60.00
maybelline eyeliner	1	8	\$8.00
Morphe 5 pan	2	7	\$14.00
Morphe 9 pan	2	13	\$26.00
Nail file set	1	7	\$7.00
Nail Polish Kits	23	10	\$230.00
	248 247	4	\$988.00
Nail Supplies	12	6	\$72.00
Purses/totes	39	7	\$273.00
Shampoo	117	5	\$585.00
Shampoo & Conditioner Set	15	14	\$210.00
Small Dental Kit	7	4	\$28.00
Small Makeup Kit	14	10	\$140.00
sponges	3	6	\$18.00
Tampons	7	8	\$56.00
Tissues	56	2	\$112.00
Toothbrush	137	8	\$1,096.00
Toothpaste	188	6	\$1,128.00
Travel Kit	2	10	\$20.00
Travel Sz Body Wash	4	4	\$16.00
Travel Sz Conditioner	23	3	\$69.00
Travel Sz Dental Kit	8	8	\$64.00
Travel Sz Lotion	15	3	\$45.00
Travel Sz Mouthwash	21	3	\$63.00
Travel Sz Shampoo	24	3	\$72.00
Travel Sz Toothpaste	15	3	\$45.00
Water Bottles (metal)	30	11	\$330.00
Water Bottles (plastic)	102	6	\$612.00
Wet & Wild brushes	7	0.99	\$6.93
4 pack razors	1	3	\$3.00
Colgate 3 Pack	2	12	\$24.00
Detangle Brush	4	3	\$12.00
Garnier Conditioner	2	12	\$24.00
Garnier Shampoo	2	12	\$24.00
Kroger Lotion 20 oz	2	4.99	\$9.98
Nivea Body Wash 20 oz	2	4.99	\$9.98

OPI polish	6	12	\$72.00
Sample Size Shampoo & Conditioner	2	0	\$0.00
Headband	4	1.25	\$5.00
Suave Bar Soap 8 Bars	1	4.97	\$4.97
Foaming Hand Soap	1	8.5	\$8.50
Shower Gel	1	13.5	\$13.50
Mongo Kiss Lip Balm	1	13.19	\$13.19
Sally Hansen Nail Polish	3	2.37	\$7.11
Equate 7-way buffer	1	2.82	\$2.82
Body Cream	2	3.97	\$7.94
Lip Balm 3 pack	6	3.94	\$23.64
Ultimate Hair Kit	2	7.99	\$15.98
Eye Shadow pallet	3	1.25	\$3.75
Hair Clips	9	5	\$45.00
Body Scrub	1	12.5	\$12.50
traders joes body trio	1	29	\$29.00
lovestruck body lotion	2	4	\$8.00
Press On Nails	1	6	\$6.00
suave shampoo and cond.	3	4	\$12.00
Lip Balm 8 pk	2	5	\$10.00
suave lotion 32 oz	1	3	\$3.00
scented body lotion	4	6	\$24.00
biolage	2	18	\$36.00
lip balm singles	2	2	\$4.00
Jergends Moisturizer	1	2	\$2.00
Leave-In Hair Treatmetn	3	30	\$90.00
Tvl Leave-In Hair Treatment	4	15	\$60.00
Suave Mousse	1	13	\$13.00
Foam Mousse Tvl SZ	2	6	\$12.00
Mini Dry Shampoo	6	15	\$90.00
wet brush mini	1	3	\$3.00
lip balm and hand cream	3	4	\$12.00
xmas hand soap	1	17	\$17.00
small pine candle	1	3	\$3.00
Oral-B Toothbrush 8pk	2	21.74	\$43.48
Gillette Women Shavers 15 pk	1	20	\$20.00
Facial Towelettes 180 count	1	19.99	\$19.99
			\$19,207.55

CRAFTS			
ITEM	QUANTITY	COST	TOTAL
10 pack twin-tip markers	2	7.42	\$14.84
101 ct Water Color Cake Set	2	5	\$10.00
101 Watercolor set	1	\$5.00	\$5.00
10pc Washable markers	21	\$14.36	\$301.56
12 pk markers/pens (Misc.)	3	\$7.99	\$23.97
12-10pc canvas pack	2	\$12.99	\$25.98
12pc paint stick	1	\$9.97	\$9.97
12pk RL watercolor paints	2	\$13.02	\$26.04
15 Piece Cookware	1	70	\$70.00
2 pack notebook	1	2	\$2.00
20pc Fine tip washable markers	10	\$6.32	\$63.20
24pk RL watercolor paints	2	\$15.93	\$31.86
30ct watercolor paints	1	\$34.99	\$34.99
35p Fidget Pack	8	\$10	\$80.00
36 pack felt tip markers	1	40	\$40.00
36 pc canvas pack	1	\$28.99	\$28.99
36ct Markers Super Fine Tip Classic Colors - Mondo Llama	2	\$10.00	\$20.00
48 count crayons	4	1	\$4.00
48npack Pastel Colors	3	15.97	\$47.91
5-6 pk markers (Misc.)	4	\$6.49	\$25.96
5-Second Rule Game	2	\$10.99	\$21.98
50pc Fine tip washable markers	1	\$12.50	\$12.50
62p Fidget Pack	5	\$30	\$150.00
65+ pc coloring art case	1	\$9.59	\$9.59
8pc Washable markers	5	\$10.00	\$50.00
acrylic markers	1	10	\$10.00
Acrylic paints - 12pc	4	\$26.99	\$107.96
Activity Book	2	4.99	\$9.98
Activity pad	4	\$7.99	\$31.96
Apples to Apples	1	\$29.50	\$29.50
aprons 12 pack	2	29.99	\$59.98
Art book	2	\$9.90	\$19.80
Art kit - 100 (Expensive)	1	\$45.99	\$45.99
Art kit - 100 (low)	1	\$33.99	\$33.99
Art kit - 12	7	\$18.99	\$132.93
Art kit - 200	7	\$45.99	\$321.93
Art kit - 30	15	\$18.99	\$284.85
Art kit - 500	5	\$45.99	\$229.95
Art kit - 80	4	\$35.99	\$143.96
art kits	5	27	\$135.00
art kits misc	4	20	\$80.00
art set misc	5	6	\$30.00
art set misc	4	3	\$12.00

and and residue	6	25	Ć1F0 00
art set misc	6	25	\$150.00
art set misc	8	15	\$120.00
art set misc	5	10	\$50.00
Artistic tote	2	\$15.99	\$31.98
Artistro 12pk acrylic paint pens	8	\$14.99	\$119.92
Atlandice Game	3	\$19.91	\$59.73
Babysitters Club Book Set	1	\$37.99	\$37.99
Banner Christmas Ornament Wood	6	\$17.89	\$107.34
barbie sticker draw	1	14.99	\$14.99
basketballs	16	30	\$480.00
Basketballs	37	31	\$1,147.00
BB 2 Poster paint w/ water	1	\$3.11	\$3.11
Betem Markers 24pc	5	\$11.99	\$59.95
Big black sketchbook	1	\$24.99	\$24.99
Big pop it game	4	\$7.98	\$31.92
BIG Sketch Books	175	15	\$2,625.00
Blanket kit	1	15	\$15.00
Board Games	62	\$10.00	\$620.00
brainbolt	1	17	\$17.00
Bright Ideas 20 Double Ended	1	\$30.00	\$30.00
Bubble Gum	1	50	\$50.00
Calendar Marvel	2	\$12.89	\$25.78
Cansun Water Color Paper	2	28.33	\$56.66
Card Games	147	10	\$1,470.00
Chalk	7	8	\$56.00
Chalk 20 pk	2	5	\$10.00
Chapter Books	97	12	\$1,164.00
Chess & Checkers Set	3	\$25	\$75.00
Christmas Ornament Wood	2	\$17.89	\$35.78
claw machines	2	40	\$80.00
clay craft set	5	26.99	\$134.95
Clue game	9	\$8.49	\$76.41
Color of the world washable	1	\$6.48	\$6.48
Color Sticker Activity Set	4	5	\$20.00
color wonder kit	1	5	\$5.00
Colored Pencils 10 pack	2	1.25	\$2.50
Colored Pencils 12 pack	90	\$2.44	\$219.60
Colored Pencils 24 pack	17	\$5.88	\$99.96
Colored Pencils 50 pack	12	\$16.49	\$197.88
Colored Pencils 70 pack	6	\$26.99	\$161.94
Coloring book	84	\$6.99	\$587.16
coloring book	1	12.99	\$12.99
Comic Book Kit	2	15	\$30.00
Comic Book Set	2	\$14.95	\$30.00
	1	-	
Comic Book Set	64	\$6.99	\$447.36

Composition Notebooks	53	2	\$106.00
Connect Four Game	4	\$11.36	\$45.44
Construction paper	2	\$11.88	\$23.76
crafter wooden bead set	2	10	\$20.00
crafter's Sq 15sheet tear-off palette	1	\$2.99	\$2.99
crafter's Sq watercolor 5pk.	1	\$7.99	\$7.99
crafty crock watercolor pens	1	18.77	\$18.77
crayola color caddy	2	29.99	\$59.98
Crayola Imagination Art Set 115 pieces	1	19.97	\$19.97
Crayola Oil Pastels	1	7	\$7.00
Crayola paint markers	5	\$9.97	\$49.85
Crayola washable paint kit	8	\$6.43	\$51.44
Crayons 24 Pack	64	\$7.22	\$462.08
Crayons 48 Pack	13	\$8.00	\$104.00
Crayons 96 Pack	2	\$18.95	\$37.90
CraZArt kids paint	1	\$12.50	\$12.50
Crochet Kit	1	16	\$16.00
cross stitch kit	1	18	\$18.00
crossstitch	4	6.99	\$27.96
delux magic set	1	50	\$50.00
diamong painting kit	4	15.99	\$63.96
dino egg kit	5	20	\$100.00
dino poop	1	8	\$8.00
discovery mindblown	1	30	\$30.00
Dolls	3	30	\$90.00
DoodleDazzles Shimmer Markers Set	2	\$17.95	\$35.90
dowsabel bracelet making	6	18.98	\$113.88
dr. jeff science kit	5	30	\$150.00
dragon painting kit	3	21	\$63.00
Drawing Pad	2	1.25	\$2.50
Dry Erase Markers 8 pack	1	\$9.86	\$9.86
Dual tip 12pk markers	1	4.99	\$4.99
DVD Player	1	50	\$50.00
DVD's	2	5	\$10.00
Ear Buds	42	20	\$840.00
engraving kit	5	5	\$25.00
fidget spinners/ misc	40	8	\$320.00
Fine Tip Watercolor Pens	2	5	\$10.00
Foam brushes	1	\$4.97	\$4.97
Foil Fun Skillmatics	4	19.97	\$79.88
Footballs	34	13	\$442.00
frozen cosmetic set	4	11.2	\$44.80
fuse beads	3	19.98	\$59.94
Gel Pens 60 Pack	3	\$19.99	\$59.97
Gel Pens 1 Pack	6	\$1.50	\$9.00
OCIT CITO I T GON	0	71.50	75.00

Gel Pens 10pk	2	1.25	\$2.50
Gel Pens 12 Pack	30	\$11.99	\$359.70
Gel Pens 160 Pack	1	\$23.99	\$23.99
Gel Pens 24 Pack	7	\$14.07	\$98.49
Gel Pens 30 Pack	20	\$15.99	\$319.80
Gel Pens 4 Pack	20	\$5.97	\$119.40
Gel Pens 48 count	1	13.88	\$13.88
Gel Pens 6 Pack	2	\$8.99	\$17.98
Gel Pens 8 Pack	19	\$9.99	\$189.81
Gel Sticks 12 pack	2	19.99	\$39.98
Glitter Gels Pen 10pack	12	7.99	\$95.88
Glue Liquid	18	1	\$18.00
Glue Sticks	21	1	\$21.00
gum ball machines	3	30	\$90.00
HH 25p paint brush pack	5	\$4.97	\$24.85
Highlighters 4 pack	7	\$2.97	\$20.79
Hot Wheels	4	30	\$120.00
Ikea Markes 249c	3	\$3.99	\$11.97
Illustration Markers 28 + 21 Count	2	\$7.98	\$15.96
Jot act. 20pk markers	2	\$1.00	\$2.00
journaling set	2	24.99	\$49.98
journals	2	6	\$12.00
Jurassic World Creatures	3	20	\$60.00
Kids Zoom Cameras	6	40	\$240.00
Kinetics	9	8	\$72.00
Kingart Tip Brush 24pc	1	\$10.96	\$10.96
kwagocar yarn	5	9.98	\$49.90
LARGE journals	28	15	\$420.00
Large Legos	18	60	\$1,080.00
Large Puzzles	28	30	\$840.00
Leap Frog Emoji Phone	8	12	\$96.00
Light up pop pipes	2	13	\$26.00
loom kits	4	15	\$60.00
LYB 26 pc 3 pack bundle	1	\$10.99	\$10.99
Mad Libs	10	\$4.99	\$49.90
magnatile sets	5	20	\$100.00
magnetic drawing kit	2	10.99	\$21.98
MainStays Acrylic Yarn	2	2.98	\$5.96
marble runs	6	57.99	\$347.94
Markers 10 Pack	5	\$8.09	\$40.45
Markers 20 Pack	2	\$6.71	\$13.42
Marvel Tattoo Packet	1	\$7.95	\$7.95
medium journals	221	10	\$2,210.00
Medium Legos	37	30	\$1,110.00

Mega Chalk Set  Mega Gel Pen Set 60 ct  melissa and doug friendship bracelet  mini garden unicorn plant kit  Mini GelPens 80 ct  misc art supplies	1 4 2 1 2 5	27 17.54 10.99 10	\$27.00 \$70.16 \$21.98 \$10.00
melissa and doug friendship bracelet mini garden unicorn plant kit Mini GelPens 80 ct misc art supplies	2 1 2	10.99 10	\$21.98
mini garden unicorn plant kit Mini GelPens 80 ct misc art supplies	1 2	10	
Mini GelPens 80 ct misc art supplies	2		\$10 001
misc art supplies	1	5	
• •	5	1	\$10.00
		5	\$25.00
misc jewelry making kits	8	24.99	\$199.92
misc science kits	12	20	\$240.00
Misc Sports Equipment	20	20	\$400.00
Mixed Media Paint Brush 18 ct	2	5	\$10.00
Monopoly	6	\$14.97	\$89.82
Moon Lamp Paint Kit	1	29.99	\$29.99
MP3 PLayers	3	30	\$90.00
Mr. sketch scented markers	1	\$14.19	\$14.19
Mystick 24 ct Gel Pens	2	6.99	\$13.98
national georgraphic science	4	24.99	\$99.96
Nee-Doh	9	6	\$54.00
Nintendo Swithc Games	1	200	\$200.00
Noodlies fidget	6	10	\$60.00
Notebook Med	2	2.89	\$5.78
Notebook Sm	4	1.59	\$6.36
Paint By Number	1	3	\$3.00
Paint palettes	3	\$3.22	\$9.66
paint pens	1	20	\$20.00
Paper Mate Ink Joy Gel Pens	16	14.99	\$239.84
Papermate 36pk felt tip	1	\$27.99	\$27.99
Pen + Gear 10 Felt Tip Pens	4	\$4.97	\$19.88
Pen 10 pack	15	\$7.62	\$114.30
Pen 12 pack	3	\$11.17	\$33.51
Pen 14 pack	2	\$15.22	\$30.44
Pen 18 pack	4	\$9.29	\$37.16
Pen 2 pack	8	\$2.98	\$23.84
Pen 4 pack	12	\$5.59	\$67.08
Pen 6 pack	15	\$7.99	\$119.85
Pen 8 pack	13	\$6.99	\$90.87
Pen Single	45	\$1.58	\$71.10
Pen Specialty	4	\$5.24	\$20.96
Pencil 10 pack	2	\$1.75	\$3.50
Pencil 12 pack	3	\$1.25	\$3.75
Pencil 24 pack	2	\$4.99	\$9.98
Pencil 30 pack	5	\$5.41	\$27.05
Pencil 6 pack	1	\$1.75	\$1.75
Pencil 8 pack	2	\$1.75	\$3.50
pencil pouch	1	5	\$5.00
Pencil singles	68	\$0.20	\$13.60

Pennelli 17pc watercolor	1	\$7.99	\$7.99
pens 10 pack	2	1.88	\$3.76
Pens 4 pack	1	\$3.67	\$3.70
Picture Books	10	33.07 92	\$920.00
pipecleaner pack	3	10	\$30.00
• •			·
Play Doh Super Cloud	6	9.99	\$59.94
Playdoh and CLay	15	15	\$225.00
Plus Plus 72 ct	4	10	\$40.00
Plush Notebook	6	6.99	\$41.94
pogo hopper	1	17	\$17.00
Pop-its	16	10	\$160.00
Portable Charge	4	20	\$80.00
punch needle art	2	16.99	\$33.98
puzzle	2	1	\$2.00
q ba maze 2.0	1	39.99	\$39.99
quilt making kit	6	16.99	\$101.94
Radio Alarm Clock	1	25	\$25.00
Rainbow Scratch Notes	10	7.99	\$79.90
redtwo clay bead making	2	19.99	\$39.98
Regular Playing Cards	36	2	\$72.00
RL All Media Paintbrush pk.	4	\$8.91	\$35.64
robotics	1	14	\$14.00
robotics	1	2	\$2.00
Rolling Ball Game	1	20	\$20.00
rulers	3	0.25	\$0.75
Scissors	1	\$3.97	\$3.97
Scratch Kit 14 pieces	1	4.99	\$4.99
Shorties Stretchy Strings	5	12	\$60.00
shrinky dink sets	6	10.67	\$64.02
Shut The Box Game	3	\$15	\$45.00
Sketch Bk Lg	2	9.07	\$18.14
Sketch Bk Med	4	5.49	\$21.96
Sketch Pad	5	1.25	\$6.25
Sketch Pad	2	8.58	\$17.16
Sketch pencils	10	\$7.99	\$79.90
sky viper	1	. 35	\$35.00
Slime	7	12	\$84.00
small bead set	5	10.99	\$54.95
Small Board Games	46	15	\$690.00
small jounrnals	120	9	\$1,080.00
small Legos	41	10	\$410.00
small misc art supplies	8	6	\$48.00
Small paint brush pack	7	\$9.62	\$67.34
Small Prize Toys	150	3	\$450.00
Small Puzzles	69	15	\$1,035.00
Siliali i uzzies	09	13	71,033.00

annell Chatab De alsa	110	10	¢1 100 00
small Sketch Books Small watercolor kit	116	10 ¢r 40	\$1,160.00
	10	\$5.40	\$54.00
Smart Watch	1	40	\$40.00
Soccer balls	15	15	\$225.00
Sorry Game	2	\$9.97	\$19.94
spiderman sticker and draw	3	14.99	\$44.97
Spiral Notebook	20	4	\$80.00
squishy caterpillar	2	4	\$8.00
Staedtler 10 twin-tip	1	\$9.31	\$9.31
stamp sets	2	8.99	\$17.98
Star Christmas Ornament Wood	12	\$17.89	\$214.68
Sticker book	3	\$5.99	\$17.97
Sticker pack/pages	2	3.99	\$7.98
Sticker set	23	\$15.17	\$348.91
Stickers roll of 600	4	\$7.99	\$31.96
Storybook Collection	1	\$16.19	\$16.19
Stuffed Animals	46	10	\$460.00
suncatcher kits	4	4.99	\$19.96
Super Art iBayam	5	24.88	\$124.40
thinking putty	8	14	\$112.00
tinker toys	1	30	\$30.00
tomyou 200 piece	4	19.99	\$79.96
Toolbox	1	30	\$30.00
Trouble Game	5	\$8.49	\$42.45
Twist Crayons 12 pack	18	\$6.29	\$113.22
Twist Crayons 18 pack	6	\$6.29	\$37.74
Twist Crayons 24 pack	10	\$6.29	\$62.90
Twist Crayons 30 pack	16	\$8.00	\$128.00
Twist Crayons 50 pack	3	\$13.39	\$40.17
Twist Crayons 65 pack	4	\$15.58	\$62.32
twist-e beads	3	5.99	\$17.97
Twistable Color Pencils	2	5.99	\$11.98
tye dye kits	3	14.99	\$44.97
vex robotic kit	4	22.99	\$91.96
Volleyballs	18	20	\$360.00
VTech Robotics	1	20	\$20.00
Walkie Talkie	1	25	\$25.00
washi tape set	5.5	12	\$66.00
Water Snakes	4	5	\$20.00
Watercolor Markers Set 13 Count	1	\$7.98	\$7.98
Watercolor paper pad	1	\$9.95	\$9.95
weaving loom	2	12.99	\$25.98
Wired Headphones	36	20	\$720.00
Wireless Headphones	16	40	\$640.00
Wireless Speakerss	11	30	\$330.00

wood paint set	5	8	\$40.00
wood paint set	6	3	\$18.00
wooden magnet set	1	20	\$20.00
Word Search	45	\$6.79	\$305.55
X Shot	1	21	\$21.00
Yahtzee	2	\$7.99	\$15.98
			\$42,167.32

#### **ELECTRONICS**

ITEM	QUANTITY		COST	TOTAL
Infinity Sound BlueTooth		7	32.99	\$230.93
Marathon Timex Watch		10	11.5	\$115.00
Nintendo Switch		2	299	\$598.00
Squishy Cat Headphones		2	9.08	\$18.16
Watch (George Brand)		4	8.88	\$35.52
Wild Wireless Speaker		7	19.98	\$139.86
Packed Party Wireless Earbuds		2	16.88	\$33.76
Juice Onn Portable Battery		2	8.98	\$17.96
Wireless Headphones		1	14.88	\$14.88
Pear Therapeutics Earbuds		16	10	\$160.00
Just Dance Switch Game		1	26.99	\$26.99
Switch Charging Slot		1	16.99	\$16.99
Alarm Clocks		5	17	\$85.00
Portable Dvd Players		4	80	\$320.00
MP3 Players		14	19	\$266.00
				\$1,408.05

TOYS				
ITEM	QUANTITY	COST	TOTAL	
"Lego"	4	10	\$ 4	0.00
1 buildering game	1	30	\$ 3	0.00
1 sparkle girl	1	25	\$ 2	5.00
300 pc Encanto Puzzle	2	13.04	\$ 2	6.08
3D Moon Lamp	5	9.99	\$ 4	9.95
Barbie	3	20	\$ 6	0.00
Barbie car	1	17	\$ 1	7.00
Big pop fidget toy	1	8	\$	8.00
Bouncy Ball	2	0.1	\$	0.20
Bubble n Go Mower	2	19.99	\$ 3	9.98
Build It Yourself	1	5	\$	5.00
Chess	2	9.99	\$ 1	9.98
Clue	1	4.99	\$	4.99
Coodoo Magnetic Tiles	1	17	\$ 1	7.00
Cra-Z-Art 350 Puzzle	1	1.25	\$	1.25
Cra-Z-Art 500 Puzzle	2	1.25	\$	2.50
crayola 24 crayon	1	1.25	\$	1.25
crayons 64 count	1	2	\$	2.00
Disney Princess Head	1	5	\$	5.00
Dominos	6	9.99	\$ 5	9.94
Drill and Learn toolbox	5	25	\$ 12	5.00
drill and learn toolbox	1	17	\$ 1	7.00
Fashion show runway	1	90	\$ 9	0.00
Fischer price toys	6	20	\$ 12	0.00
fisher price dog toy	1	20	\$ 2	0.00
Fisher price toy	1	8	\$	8.00
Giant Floor Puzzle	1	23	\$ 2	3.00
gluesticks	11	1	\$ 1	1.00
Gravity Maze	1	33.99	\$ 3	3.99
Gumball Bank	1	5	\$	5.00
heat Shrink Sheets	1	8.99	\$	8.99
Hot wheels 10pk	3	16	\$ 4	8.00
Ispy Match Card Game	1	6.99	\$	6.99
Jenga	3	9.97	\$ 2	9.91
Jurassic Dinosaurs	3	40	\$ 12	0.00
Key Chain	2	5	\$ 1	0.00
Kid Connection Dress Up Bear	1	4.97	\$	4.97
Leap Frog Chat and Count	2	10.99	\$ 2	1.98
Lego 21178	5	19.95	\$ 9	9.75
Lego 60283	5	19.95	\$ 9	9.75
Lego 60384	5	19.95	\$ 9	9.75
Lego 6373621	1	14.65	\$ 1	4.65

1	8	\$	8.00
1	31.98	\$	31.98
1	23.99	\$	23.99
1	12	\$	12.00
1	39.99	\$	39.99
1	24.55	\$	24.55
4	5.72	\$	22.88
4	5	\$	20.00
1	58	\$	58.00
1	18	\$	18.00
1	14	\$	14.00
1	12	\$	12.00
30	0.5	\$	15.00
2	24.99	\$	49.98
1	5	\$	5.00
8	20	\$	160.00
1	5	\$	5.00
1	5.16	\$	5.16
1	5	\$	5.00
6	9.97	\$	59.82
2	19.77	\$	39.54
6	2.44	\$	14.64
1	20	\$	20.00
1	5	\$	5.00
1	5	\$	5.00
1	1	\$	1.00
19	0.5	\$	9.50
1	9.99	\$	9.99
2	24.99	\$	49.98
1	5	\$	5.00
2	9.36	\$	18.72
2	8.99	\$	1 <i>7</i> .98
1	18	\$	18.00
5	5	\$	25.00
2	10	\$	20.00
6	0.5	\$	3.00
2	16.99	\$	33.98
1	20.07	\$	20.07
2	10	\$	20.00
3	13	\$	39.00
1			13.89
1	5	\$	5.00
	13	\$	13.00
	1 1 1 1 1 1 1 1 4 4 4 1 1 1 1 30 2 1 1 8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1       31.98         1       23.99         1       12         39.99       1         24.55       4         4       5.72         4       5         1       58         1       18         1       14         1       12         30       0.5         2       24.99         1       5         8       20         1       5         8       20         1       5         8       20         1       5         8       20         1       5         6       9.97         2       19.77         6       2.44         1       20         1       5         1       5         2       9.36         2       9.36         2       9.36         2       9.36         2       8.99         1       18         5       5         2       10         6       0.5	1       31.98       \$         1       23.99       \$         1       12       \$         1       39.99       \$         1       24.55       \$         4       5.72       \$         4       5       \$         1       58       \$         1       18       \$         1       18       \$         1       12       \$         30       0.5       \$         2       24.99       \$         1       5       \$         8       20       \$         1       5       \$         8       20       \$         1       5       \$         2       19.77       \$         6       9.97       \$         2       19.77       \$         6       2.44       \$         1       5       \$         1       5       \$         2       19.77       \$         6       2.44       \$         1       5       \$         2       9.36       \$ <t< td=""></t<>

Tetris Board Game	1	15.74	\$ 15.74
The Game of Life	1	14.97	\$ 14.97
Toy Cars Mini 4 pk	1	5	\$ 5.00
Uno	16	6.44	\$ 103.04
Upwords	2	14.59	\$ 29.18
Weatherproof Socks	1	3.99	\$ 3.99
XShot Gun	2	5	\$ 10.00
Yahtzee	3	7.99	\$ 23.97
Yahtzee To Go	1	5	\$ 5.00
Beblox 250 pc	2	25	\$ 50.00
Brain Bolt	2	18	\$ 36.00
Do you even know Math	2	20	\$ 40.00
Highlights Magaine	2	7	\$ 14.00
			\$ -
	<b>"</b>	"	\$ 2,706.38

Item	Amount	Cost	Total
34 pack Huggies Snug & Dry	1	8.94	\$8.94
animal erasers	1	8.99	\$8.99
Bike Helmet	1	24.97	\$24.97
Blankets	43	\$25	\$1,075.00
book	1	5	\$5.00
Dry erase board	1	10	\$10.00
duffel	1	13.58	\$13.58
duffle bag	14	20	\$280.00
earbuds	3	1	\$3.00
earbuds	2	20	\$40.00
echo dot	1	40	\$40.00
Expo Markers	1	10	\$10.00
first aid kit	3	12	\$36.00
hot pads	1	1	\$1.00
Laundry Baskets	2	10	\$20.00
Lighted fountain	1	37	\$37.00
mp3 player	1	27	\$27.00
mp3 player	1	20	\$20.00
Pillow Set	1	25	\$25.00
pots and pans set	3	79	\$237.00
scrapbook kits	5	50	\$250.00
tool kit	1	3	\$3.00
travel duffle bags	2	19	\$38.00
Wall Decor	1	15	\$15.00
Watches	8	20	\$160.00
Water Bottles Plastic	5	1.25	\$6.25
Winter Trax	1	20	\$20.00
			\$2,414.73

#### HOLIDAY

Item	Quantity	Cost	Total
Art Kit	1	10	\$10.00
Bathsalt	1	5	\$5.00
Brooch	1	20	\$20.00
Candy Canes	3	5	\$15.00
Cookies	4	4	\$16.00
Cookies	1	10	\$10.00
Elf Train set	1	78	\$78.00
Gummy Stars	2	5	\$10.00
Hello kitty clutch	1	7	\$7.00
Hersheys bells	1	3	\$3.00
Hot Chocolate	3	8	\$24.00
Joe Joes	3	4	\$12.00
Lifesaver book	1	4	\$4.00
Lip balm	2	3	\$6.00
M&m'S	5	4	\$20.00
Mini Ordeo book	3	4	\$12.00
Misc	1	20	\$20.00
Misc	1	20	\$20.00
Notebooks	2	5	\$10.00
Onesie	1	13	\$13.00
Paint set	2	5	\$10.00
pb cups	1	2	\$2.00
Pen set	1	5	\$5.00
Pepperment cremes	1	7	\$7.00
Puzzle	1	10	\$10.00
Snowglobes	1	10	\$10.00
Socks	40	10	\$400.00
Stuffed animals	2	5	\$10.00
Tea	1	5	\$5.00
Wile Life	1	20	\$20.00
tree	1	1	\$1.00
Ribbon	2	4.99	\$9.98
Icicles - Tinsil	1	0.5	\$0.50
PJ set	1	0.98	\$0.98
			\$806.46

#### APPAREL

ltem	Quantity	Value	Total
		4.2.2	A- A-
Assorted dresses	6	\$20	\$120
Assorted pajamas	11	17	\$187
Baseball hats	26	\$25	\$650
bcbg coat	2	84	\$168
beanie glove	1	7.98	\$8
Beanie Glove Set	9	\$30	\$270
Beanie Set of 2	4	\$25	\$100
Beanie Set of 3	2	\$30	\$60
Beanies	174	\$10	\$1,740
Beanies	44	7	\$308
beanies	6	1	\$6
Hair Bonnet	4	9.99	\$40
Boys levis	3	48	\$144
child sweat pants	1	12.48	\$12
Cotopaxi Sweatshirts	141	65	\$9,165
Cotopaxi Sweatshirts S	46	75	\$3,450
Cotopaxi Sweatshirts XS	38	75	\$2,850
Ear warmer	2	\$10	\$20
Fuzzy hat	1	\$20	\$20
gap coat	1	128	\$128
Gloves	93	\$7	\$651
Gloves	28	\$15	\$420
Golves	2	25	\$50
hang ten jackets	20	70	\$1,400
high waisted pants grey	1	10	\$10
Kids L joggers	1	14.99	\$15
Kids pj bottoms	3	13	\$39
Kids pj top	1	9	\$9
Kids PJS	8	13	\$104
Kids Robe	1	20	\$20
Kids shoes	18	\$40	\$720
Kids socks 10 pack	6	\$25	\$150
Kids socks 2 pack	2	\$8	\$16
Kids socks 3	5	\$10	\$50
Kids socks 6	6	\$20	\$120
Kids socks single	31	\$5	\$155
Kids underwear	2	\$15	\$30
Kids underwear 14 pack	1	\$15	\$15
Kids underwear 5 pack	3	\$20	\$60
·	_		,
Kids underwear 5 pack	2	\$35	\$70

Ladies Activewear L	6	20	\$120
Ladies Activewear leggings L	2	20	\$40
Ladies activewear leggings XL	1	20	\$20
Ladies activewear skirt xxl	1	20	\$20
Ladies Activewear tops m	5	20	\$100
Ladies activewear tops XL	2	20	\$40
Ladies activewear xxl	1	20	\$20
Ladies booties	1	50	\$50
Ladies Boots	1	45	\$45
Ladies bras	28	25	\$700
Ladies Dress	1	20	\$20
Ladies flats	3	20	\$60
Ladies Jackes XS	4	\$100	\$400
Ladies Jacket XXL	2	\$50	\$100
Ladies Jacket XXXL	1	\$60	\$60
Ladies Jackets Large	24	\$100	\$2,400
Ladies Jackets Med	18	\$100	\$1,800
Ladies Jackets Small	19	\$100	\$1,900
Ladies Jackets XL	8	\$70	\$560
Ladies Jeans	9	18.44	\$166
Ladies Leggings S	4	15	\$60
Ladies Nikes	1	50	\$50
Ladies Pants	2	18	\$36
Ladies slippers basic	8	8	\$64
Ladies Slippers premium	4	25	\$100
Ladies Sneakers	2	40	\$80
Ladies Sweatshirts	51	25	\$1,275
Ladies tops - L	23	\$25	\$575
Ladies tops - M	16	\$25	\$400
Ladies tops - XL	21	\$25	\$525
Ladies tops - XS	2	\$25	\$50
Ladies tops - XXL	10	\$25	\$250
Ladies tops- S	16	\$25	\$400
Lg Legg	1	10.49	\$10
Man's joggers S	1	20	\$20
Med Legg	1	10.49	\$10
Men Med Sh	1	8.99	\$9
Men Med Sweatpants	2	19.99	\$40
Men's 12 pack	1	\$20	\$20
Men's 12 pack	8	\$25	\$200
Men's 2 pack shirts	3	20	\$60
Men's 3 pack dress socks	2	\$25	\$50
Men's 5 pack	14	\$25	\$350
Men's 6 pack	4	\$25	\$100
•		•	•

Men's 8 pack	8	\$25	\$200
Men's jackets L	11	100	\$1,100
Men's Jackets Med	19	100	\$1,900
Men's Jackets Smal	20	100	\$2,000
Men's jackets XL	8	100	\$800
Men's jeans	1	40	\$40
Men's jobbers XL	6	20	\$120
Men's joggers L	5	20	\$100
Men's joggers M	6	20	\$120
Men's joggers XXL	1	20	\$20
Men's joggers XXXL	1	20	\$20
Men's joggers XXXXL	1	20	\$20
Men's L Sweathshirts	15	25	\$375
Men's long sleeve shirts	47	18	\$846
Men's Lounge XXXXL	1	\$25	\$25
Men's M Sweatshirts	11	25	\$275
Men's pajamas	1	10	\$10
Men's Pants/Jeans	5	50	\$250
Men's shirt pack	1	30	\$30
Men's shoes - premium	5	\$85	\$425
Men's shoes - regular	5	\$50	\$250
Men's short sleeve shirts	45	20	\$900
Men's shorts	2	30	\$60
Men's slippers	5	\$30	\$150
Men's small sweatshirt	5	65	\$325
Men's socks	14	\$8	\$112
Men's socks 6 pack	5	\$25	\$125
Men's socks 10 pack	10	\$30	\$300
Men's socks 10 pack	9	\$30	\$270
Men's socks 10 pack athletic	4	\$25	\$100
Men's socks 12 pack	4	\$30	\$120
Men's socks 12 pack	1	\$20	\$20
Men's socks 12 pack	3	\$20	\$60
Men's socks 2 pack crew	7	\$15	\$105
Men's socks 2 pack crew	6	\$16	\$96
Men's socks 3 pair ankles	2	\$12	\$24
Men's socks 4 pack no show	2	\$16	\$32
Men's socks 6 pack	25	\$25	\$625
Men's socks single	40	\$8	\$320
Men's Underwear	4	\$8	\$32
Men's Underwear 2 pack	1	\$20	\$20
Men's Underwear 3 pack	25	\$23	\$575
Men's Underwear 5 pack	10	\$27	\$270
Men's Underwear 6 pack	13	\$30	\$390
Γ	-	T	,

Men's Underwear 8 pack	4	\$32	\$128
Men's XL Sweatshirt	15	25	\$375
Men's XXL Sweatshirt	14	25	\$350
Mens Lounge Large	15	\$25	\$375
Mens Lounge Medium	7	\$25	\$1 <i>75</i>
Mens Lounge Small	16	\$25	\$400
Mens Lounge XL	5	\$25	\$125
Mens Lounge XXL	3	\$25	\$75
Mens Lounge XXXL	3	\$25	\$75
Scarf Set	3	\$25	\$75
Scarves	14	\$10	\$140
socks 10 ct	2	8.98	\$18
sweater time and tru	2	18.99	\$38
tshirts	96	25	\$2,400
Visors	2	\$20	\$40
Women Med Shirt	1	8.99	\$9
Women's jogger L	2	20	\$40
Women's jogger M	6	20	\$120
Women's jogger S	4	20	\$80
Women's Lounge bottom M	17	20	\$340
Women's Lounge Bottoms XS	1	20	\$20
Women's Lounge L Pants	18	20	\$360
Women's Lounge Pant XL	11	20	\$220
Women's Lounge S Bottom	6	20	\$120
Women's singles	130	\$4	\$520
Women's socks 12 pack	40	\$22	\$880
Women's socks 2 pack	3	\$10	\$30
Women's socks 3 pack	5	\$9	\$45
Women's socks 4 pack	2	\$10	\$20
Women's socks 6 pack	30	\$16	\$480
Women's socks 8 pack	3	\$12	\$36
Women's socks 9 pack	12	\$18	\$216
Women's sweaatpants L	3	73	\$219
Women's sweatpants M	6	73	\$438
Women's sweatpants XXL	2	73	\$146
Women's Underwear Packages	41	15	\$615
Women's underwear singles	2	5	\$10
Women's XXL Lounge pant	3	20	\$60
Youth athletic shorts	6	\$20	\$120
Youth bottoms	19	\$10	\$190
Youth jeans	8	\$30	\$240
Youth jeans	1	20	\$20
Youth L Jackets	3	35	\$105
Youth Large shirts	19	\$15	\$285

Youth M Jacket	6	50	\$300
Youth M Jackets	8	50	\$400
Youth medium shirts	20	\$15	\$300
Youth outfit bundler	5	\$24	\$120
Youth Pajamas	11	16	\$176
Youth pajamas pant sets	2	42	\$84
Youth S Jacket	8	40	\$320
Youth S Jackets	9	50	\$450
Youth small shirts	11	\$15	\$165
Youth snowpants	2	24	\$48
Youth snowsuit	1	50	\$50
Youth sweathshirts	9	\$15	\$135
Youth sweatpants	1 <i>7</i>	7	\$119
Youth Sweatshirts	14	15	\$210
Youth Thermal suits	2	9	\$18
Youth tshirt	5	3.98	\$20
Youth XL Jacket	6	45	\$270
Youth XL Jacket	4	50	\$200
Youth xl shirts	14	\$15	\$210
Youth XS Jacket	6	30	\$180
Youth XS Jackets	9	50	\$450
Youth xsmall shirts	2	<b>\$15</b>	\$30
Youth XXL Jackets	2	50	\$100
Youth xxl shirts	2	\$15	\$30
Youth XXS Jacket	1	50	\$50
Youth medium shirts	2	5	\$10
Lg White T-shirt	5	14.49	\$72
Md White T-Shirt	5	14.49	\$72
Blanket	8	9.75	\$78
Jump Socks	174	2	\$348
Med Wm Raincoat	1	24.99	\$25
Paded Bra	636	23	\$14,628
Pocket Panty Shorts	222	12	\$2,664
Pocket Panty	360	12	\$4,320
Boy Short Panties	586	8	\$4,688
Sports Bra	428	30	\$12,840
Bra (Nopad)	518	20	\$10,360
Womens Shirt	3	10	\$30
Womens sweatpants	3	18	\$54
Womens dress	2	18	\$36
6 pair boys no show socks	1	4.98	\$5
Womens Hoodie	1	18.73	\$19
Fuzzy Socks	4	1.25	\$5
Under Armour Men's Socks - 6 pair	1	20	\$20

10 pair boys crew socks	1	6.97	\$7
Comfort Colors - Pura T-Shirts	83	6.78	\$563
Pura bag	1	5	\$5
Women's Coat	1	55	\$55
St.John's Bay PL Long Sleeves Women	2	7.99	\$16
Sunglasses	2	1.25	\$3
Rings	8	10	\$80
Earrings	13	8.99	\$117
butterfly Hair Clips	6	10	\$60
Backpacks	4	1.25	\$5
Women PJ Shorts	3	15	\$45
womens sweater I	1	15	\$15
kids crew socks 6 pair	2	12	\$24
womens skinny L	1	12	\$12
mens sweatshirt L	6	30	\$180
Snapback Hats	98	10	\$980
mens sweatshirt XL	11	55	\$605
womens 8 pack underwear M	1	20	\$20
mens hoody m	8	10	\$80
youth M hoody	2	10	\$20
youth L long sleeve	3	5	\$15
youth shirt short sleeve L	11	5	\$55
womens coat M	1	20	\$20
womens 10 pack no socks	1	6	\$6
Bucket Hats	2	7.89	\$16
infant onsie 12 month	1	4	\$4
Necklace	5	5	\$25
			\$119,423